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QUESTION 1

Which component in VMware NSX provides L2 bridging from the logical networking space VXLAN to the physical
space? 

A. NSX virtual switch 

B. Logical Router control VM 

C. Logical router 

D. NSX Edge virtual appliance 

Correct Answer: C 

The logical routers can provide L2 bridging from the logical networking space (VXLAN) to the physical network (VLAN).
Reference: https://docs.vmware.com/en/VMware-NSX-for-vSphere/6.3/nsx_63_admin.pdf 

 

QUESTION 2

A customer wants to ensure that management cluster storage does not impact production cluster storage performance.
What VMware product would meet this requirement? 

A. VMware Storage DRS 

B. VMware vCenter Server 

C. VMware vSAN 

D. VMware Virtual Volumes 

Correct Answer: A 

 

QUESTION 3

VMware vSuite Cloud Management Platform can solve which three demanding business use cases? (Choose three.) 

A. Intelligent Operations Management 

B. DevOps-Ready IT 

C. IT Automating IT 

D. Cost Management 

E. Configuration Management 

Correct Answer: ABC 
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QUESTION 4

A supervisor wants to find a way for employees to access remote desktop applications without having to install any
additional software other than a web browser. Which aspect of Horizon 7 would be a solution? 

A. Horizon Client 

B. HTML Access 

C. vSphere Client 

D. VMware Tools 

Correct Answer: B 

If you use the HTML Access feature, end users can open a remote desktop or application inside a browser, without
having to install any client application on the client system or device. Reference: https://docs.vmware.com/en/VMware-
Horizon-HTML-Access/4.6/html-access-installation/GUID-AD6BF5D5-92EA-4762-A8C7-6E30DC3B3908.html 

 

QUESTION 5

Which two benefits are delivered through VMware Software Defined Data Center (SDDC)? (Choose two.) 

A. Complex architecture 

B. IT driven policies 

C. Comprehensive management 

D. Flexible cloud delivery 

E. Increased administrative cost 

Correct Answer: BC 

Reference: https://www.vmware.com/solutions/software-defined-datacenter.html 
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